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ITI 2nd Year ELECTRICIAN Trade Theory NIMI MCQ | Unit 7. Electronic Practice | ARTa! + English

1 Which resistor is used to measure light intensity? |
YHRITA dierdT AISTUATaTST dIoTdT ASRE ATIREAT STaT?
A VDR

B NTC

CPTC

D LDR

Ans: D

2 Which code indicates silicon semiconductor diode? |
PIUTAT BI ffciciT At der TS GRfadl?

AOAT79

B BY 126

C IN 4007

D 2N 3055

Ans: B

3 What is the input ripple frequency (Fin) of full wave
rectifier? | et deg ARBRIR! S7Yc Ruel IRaRAT &1
3Te?

AFin=%F

B Fin = Fin

CFin=2Fin

D Fin =V2 Fin

Ans: C

4 Which is a active component? [Gfehd €ed BIUTAT 3178 ?
A Inductor | IR

B Resistor | 3R

C Capacitor | hUfde?

D Transistor | gTf~sT&ex

Ans: D

5 Which letter indicates the compound material
cadmium sulphide? | BIUTA 31eR Hsfman Gewbrss AT fafga
Yerfd Hdbd ad?

AA’

B ‘B’

cc

DR’

Ans: D

6 What is the name of the symbol? | fi&T 7T &1 31Me?

: Y=AB

ME——] 0
A Two input OR gate | G 8¢ OR 7I¢
B Two input AND gate | G 19 AND ¢
C Two input NOR gate | G §79¢ NOR 7€
D Two input NAND gate | 11 819¢ NAND 7i¢
Ans: D

e

7 Which is a passive component? [fAfSha Tred wrorar
3Te?

A Diac | S”®

B Diode | STITS

C Transistor | gTf~eT e

D Capacitor | HAfdeR

Ans: D

8 What is the name of the device symbol? | 3UoT
[EEICEICKATE

A SCR

B IGBT
C DIAC
D TRIAC
Ans: C

9 How many characters are in hexadecimal number
system? | eddTsGHeT T&T WoTTei e fdsdt aof smea?
A6

B8

C12

D16

Ans: D
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10 Which electronic circuit generates A.C signal without
input? | BIUTd SIS Afdbe STYCRIART A.C I aar
PA?

A Filter circuit | fioeeR afdbe

B Rectifier circuit | ATEHRR Afdbe

C Amplifier circuit | 3FefitprRR Afdhe

D Oscillator circuit |3Tf&cieR afdhe

Ans: D

1 Which instrument provides a visual representation of

measured or tested quantities? [IUTd SNgHE HIsTeict
e ATt BT YHTUTRY 227 Ufafiftica UeH $a? |
A Voltage stabilizer | @leesT TlATIER

B Function generator | a2 e

C Cathode ray oscilloscope | %213 a0 3iifAcihia
D Radio frequency generator | 3331t flbaa=dt sTReR
Ans: C

12 What is the name of amplifier? | IFATHRRD 71T BT

A Common emitter amplifier | ATHTT 3cqsies iffceTBRR
B Class B push pull amplifier | @f B R gt IHEABRR

C Common collector amplifier | GTHTRI BAeRR BRI
D Class AB push pull amplifier | @7f AB RI gt 3R
Ans: B

13 What is the formula to calculate the resonance
frequency in an oscillator circuit? | 3Tffcie? Afdbered
AT faa=t MS0aTa g3 &1 31Te?

A F.= Zﬁ%c

B E.= NPT

C E=—

2nvVLC

1

D FT:LC\/E

Ans: C

14 What is the minimum voltage required in the base
emitter junction to conduct a silicon transistor? |
fafeiid gTfFeTeer ATeTauaraTet &4 effer sideAned fhrM
@lees fobdl 3Tayep 31Te?

AO02V-03V

B04V-05V

co6VvV-07V

D0o8V-09V

Ans: C

15 What is the minimum and maximum value of resistor
with four colour bands, red, violet, orange and gold
respectively? | 3FgFR @, AiIete, ATRIM 371f0T T AT IR
i ueedide AsiEeed fdnm 31fuT HHTe Yed fabdt 3me?
A 237501} - 262501}

B 24700() - 27300Q2

C 2565011 - 28350()

D 22400Q) - 3360002

Ans: C

16 What is the reason for barrier voltage is more in
silicon material? | ffdi®id AeRaemed dRR @eesT sTa
UG BRUT B 3Te?

A Lower atomic number | FTeTaI 3UJBAIR

B Resistance is very low | ifd®R HU &HT 3T

C Doping percentage is more | 31U eRpaR} 31fei

D Valence electrons are two only | @~ saidg 9 g
3Ted

Ans: A

17 What is the reason for widened barrier in a reverse
biased diode? [Regd a5 SIS 3H5UST dTeaudrd
PBRUT B 3Te?

A Minority carriers in two materials are neutralised | 17

AT cUdSTd digd dedd 3ed
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B Electron in N material is drifted to positive terminal |
7 MeRaaHeid saiagiA Uifsifeee effverar aaad sia

C Holes in P material attracted to negative terminal | ot
HeRgereita g ot effads 3Thfia gidara

D Electrons and holes are attracted towards supply
terminals | ST~ 3107 8¢ RRaeT efieads b
E{GIG]

Ans: D

18 What is the output voltage in the full wave rectifier
circuit? |Bd deg ATTHRR Afbered 3M3eye @ fdsdt
3Me?

M i
i
T 14
AT a1
BN
BUPPLY v =
L 3
I .
By

A No output | ATEl 313cyc

B Rated output | 3¢ 313¢qe

C Half the rated output | 31ef 3¢ 31M3¢qe

D Double the rated output | 3¢ beted 33¢Yc g
Ans: A

19 Which filter circuit is capable of removing voltage

spikes in the rectifier circuit? | BT fibeeR Afbe
ARBRR Afberia EeesT WIsad BIgT IHUATT TaH
3Te?

A LC filter |LC fooeeR

B RC filter | RC fiheeR

C Capacitor input filter | $AfER 37Y¢ fheex

D Series inductor filter | ATfcidT $5RR fohee

Ans: A

20 Which is the advanced version of power electronic
component used in the output stage in drives? |
STEEHET 3MM3eYC WHED Uik Saidgid Tedrd! WId
gt BioTd e

A FET

B WT

CSCR

D IGBT
Ans: D

21 How the decimal number can be converted into
binary number? | [l T&IA BUTAR IIIRT GBI Y dbet
5135 2APBd?

A Divide decimal by 4 | 4 7 Garier 4P

B Multiplying decimal by 4 | GRIi2ITeIT 4 A TOTPBR PO

C Dividing decimal by 2 | GIi?r 2 3 HPTT

D Multiplying decimal by 2 | GRIi2ITaT 2 J TOUTHBR PO
Ans: C

22 What is the purpose of using binary coded decimal
(BCD) system in digital circuits? | f3f5iect afbeamed
I PIss SFAHE (BCD) NUTTe! aTaRuTT 382 B 3178 ?
A Storing the data inputs | $¢T 89U Hafdd $Iut

B Control the binary system | ST oTTed! fAaf3Ed &

C Interface to binary system | $&3%9 d SR fGweq

D Segregating the input parameters | §19¢ WTHicH dITd
G|

Ans: A

23 Which logic gate refers to the truth table? | BT

W51 N1 I IRuftar deH ¢a?
A B Y =AR
0 0 4|
1 4] 4]
0 1 4
1 1 1

A OR gate

B NOT gate

C AND gate

D NOR gate

Ans: C
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24 Which quantity can be measured by CRO? | CRO §R
PIUTd YHTUT HISTAA 57135 2ABd?

A Frequency | IRIRdT

B Inductance | s~

C Resistance | Ufd®R

D Power factor | GTaR thae?

Ans: A

25 Which is the main application of SCR? | SCR T &I
3SRIPT BIUTAT 3Te?

A Amplifier | 3FABRR

B Oscillators | 3ifdeiex

C Multi vibrators | Aee! @RISR

D Speed control of motors | AYedd a7 =0T

Ans: D

26 What is the function of R1 variable resistor? | R1

eRugd Asiew Brf B 31me?
AIFLTER
S, L (TG
T
Ry TRAG | O
Y U F
m | F R — -

iz

e
1

A Controls the current in R2 | R2 W& fagld vare fAdifd
BAv
B Protects from overload to TRIAC | TRIAC oI
MERATSURIT FRE0T B
C Protects the RFI filter from overloading |RFI fiseea
ERANSITARG TRefoT
D Controls the pulse rate for triggering the TRIAC | f&"R
BRUYITST Uod ¢ A dvd
Ans: D

27 What is the purpose of connecting L1 through C1to
the transistor base? | L1 @ C1 gR gTf-sre’ SaRft siisvaren
38 B 3Te?

Ve

cr L Ly
L

(2
———)

.|}..°

A Provides DC supply | DC GaaT QReadt
B Provides positive feed back | HBRIcH® WHis §db U

Bd

C Provides negative feedback | 7BRIcH® Hfdfdar gar
D Provides transistor biasing voltage | eTfsTeR SrafaT
@leesT UeH PBd

Ans: B

28 What is the criteria to decide a material as conductor,
semi conductor and insulator? | &saeR, AWt dHsdeR foT
I WU AT SXaUTHTST BivTd b 3mea?

A Atomic bonding structure of atom | 3{UTgil 3] &g/
G

B Existence of valance electrons in atom | 3U[Hed €l
SR &

C Atomic weight of the atom of the material | UgTafeaT
3T 379 &5

D Atomic number of the atom of the material | ggrifzT
SToght 3] e

Ans: B

29 Which doping material is used to make P-type

semiconductor? | “d1-eTsu At BeqeR ITAUGTHTST BIvTdT
ST FTIft aToRet sTra?

A Boron | gRiF

B Arsenic | 3T &

C Antimony | 3ifémt

D Phosphorous | BRI

Ans: A
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30 Which type of biasing is required to a NPN transistor
for amplification? | BAUtEA gTf~sReaT UaETATat HloTaT
YHRA TR ATARAB HTR?

A Base ground, emitter and collector positive | &4 U133,
TR 37fUl peAdRR ulfsifée

B Base negative, emitter positive and collector negative
| S 0T, 351 BRI 3101 GATED TBRIHD

C Base positive, emitter negative and collector positive |
99 yifsiféeg, vffiez ffeee 3ol deiaer uifaifce

D Base positive, emitter negative and collector negative
|99 ifgifecg, TffieR kot 3M1f0T Botder TBRTHD

Ans: C

31 What is the type of function in the transistor circuit? |

oiferee’ afdbened) BT YbR B 3Te?

N

.. -

+

A Switching | &

B Oscillation | gle T

C Modulation | ATS[eiRM
D Amplification | Wirefd
Ans: A

32 Why negative feedback is required in amplifier
circuits? | 3B RR Afheaned TRTcHd Ufdfpar &1
TR 37Te?

A To reduce the distortion | faddt et eRogTaTS!

B To increase the amplification factor [l ged
qIEIUITATS}

C To increase the output voltage gain | STBEQ,E@@?T
qIEIUITATST

D To increase the output current gain | 3IT3CYc dTe] THT
qIEqugTETSt

Ans: A

33 What is the purpose of DIAC in power control
circuits? | UTeR Pl AfheaHed DIAC T 382f BT 3Ta?
A As rectifier | IaEBRR

B For triggering | fénfomamet

C As an oscillator | 3{Tf8eieR U

D For amplification | Srareframat

Ans: B

34 Which type of control device is used in electronic fan

regulator control circuits? | SAdRITHPD W TG dglet
Gfheaned BT YHRY drgldl SETd aTRe STa?

A FET

B UJT

CDIAC

D TRIAC

Ans: D

35 Which quadrant operation of SCR delivers heavy
current in reverse biasing? | SCR & BIUTd FATSE 3TURRM
Regdf arafdmed gt e faadta axae

A First quadrant | afgar aqaifer

B Third quadrant | fa@RT argafer

C Fourth quadrant| =T argafer

D Second quadrant | GERT agfer

Ans: B

36 Which logic gate refers the truth table? | ®BIUTd dlf5idH
e T gRuftar deH gar

e -
=

A AND
B NOT
CNOR
D NAND
Ans: C
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37 What is the use of time-base control switch or knob
in the CRO? | CRO WeA <TsH-a9 dhelet fEadr fabar Aferar B
39T 37Te?

A Select sweep speed | fAasT @ity 7t

B Select input voltage range | 1Y @leesT fuit fAasT

C Select input signal voltage| 1Y¢ fG7et &leest fAasT

D Select intensity of the beam | degd diterdr fAasT

Ans: A

38 Why a snubber circuit is used in the TRIAC motor
control circuit? | TRIAC HieR dogicT Afdbeded) HeR Afdbe BT
IR 5Td?

A To avoid false triggering | T f&TfoT eresvaTaTst

B To increase the life of TRIAC | TRIAC ¥ 3TgsT
qIEqugTETSt

C To increase the motor torque | AIeR € ATeAUATHTS!

D To maintain the motor speed constant | HeaT a7 2R
SqugraTSt

Ans: A

39 What is the output DC voltage in half wave rectifier,
if the input AC voltage is 24 volt? | S7Yc TH Elecs 24
@I HHAT BT deg AFBIRIRALS 13eYe St ieest
fabdt 3me?

A 24 Volt

B 12 Volt

C 9.6 Volt

D 10.8 Volt

Ans: D

40 Why most of semi conductor devices are made by

silicon compared to germanium? | STHfAIHAT geid
Jgddb 37EfdaTEd 3UHR0T fafdd A &1 adet sTara?

A High barrier voltage | 3T 315937 &lees]

B High resistance range | 3= Ufd®R goft

C High thermal conductivity | 3= He ATeTdbar

D High current carrying capacitymma'lﬁ?rﬁmﬁ?
&Hdr

Ans: C

41 What is the output voltage if the centre tap of
transformer is open circuited in a full wave rectifier
circuit? |SR SIATHIEIT HEgHPT €0 Bof dieg AaRBRR
TfheHed 3TSE 3T R AT3eYS Eleest fdsdt 3e?

A Zero voltage | [ @leest

B Full rated output | gof 3¢3 313eYe

C Half of the rated output | 3¢3 3m3cyean 37t

D One fourth of rated output | 3¢S 3M3eYedT B TGy
Ans: A

42 Which oscillator provides high accurate stable
frequency? | PIUTAT 3HTTAAR 32 31 R aRaRdl UgH
Par

A Hartley oscillator | 8¢a 3iifGae}

B Colpitts oscillator | lerdle 3iifdeiex

C Quartz crystal oscillator [aITesT fobtee iifAeiex

D R.C phase shift oscillator | R.C %1 RRIte 3iifTeieR

Ans: A

43 What is the characteristic property of base material

in a transistor? gIf~sRewEltel 98 AeRyeTt afiearguf
T[OTEH BT 3Te?

A Lightly doped and very thin | cTd ST dseted 311107 U
RIGE]

B Heavily doped and very thin | Wt S1T dsete 311foT ga
RIGE]

C Lightly doped and very larger | €¢1ds 319 dbeiet 30T U
s

D Heavily doped and very larger | 5TRGRYT 31T dbalat
3TfoT U HIS

Ans: A
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44 What is the type of amplifier? | TFIGHBRIAT YR
P ATE?

g0, |
{ W0~ LE |

A Push Pull Amplifier | G2 eT SFefrR

B Common Base Amplifier | 1A & PR

C Emitter Follower Amplifier | Tffie3 BieiI3R 3FeflpRR
D Common Emitter Amplifier | BIHT TRk THRIGTHRR
Ans: D

45 Which resistor determines the voltage gainin a
common emitter amplifier? | BIUTAT AERER BIAA BfFR
SRR @RSt ate fAfaid wear?

m
o] "

B
|
Iy

AR1
B R2
CRL
D Re
Ans: C

46 Which multi vibrator produces a repetitive pulse
wave form output? BIUTdT Heel @RISR Rutefes ueq d&
TiH 313¢YC dIR Pal?

A Astable multi vibrator | 31f@R Hedt @RISR

B Bistable multi vibrator fe%dd Aeel @ISR

C One shot multi vibrator | g 2ITe Heel @ISR

D Monostable multi vibrator | FIARRE Al @RISR
Ans: A

47 Why a feedback network is used in the oscillator? |

HifGeIeHed BIseds Aead BT ITRe 5Td?

it

l -

A To cancel noise distortion | t2t fdgdl Ig BuaTETaSt
B To phase shift the signal by 60° | 93T BRUIMTST
fawreTe 60° A fiue a1

C To phase shift the signal by 180° | ToTee fGue
180° A RRITRe HRUGTATST

D To cancel second harmonic distortion | &3l gTHIfA®
faepdt 3& arvaranst

Ans: C

48 What is the main application of a Field Effect
Transistor (FET)? | thics sthae ¢If-s&eR (FET) A &4
3IINT B 3T8?

A Voltage control device | @leesT dbeldt fcarsd

B Current control device | adqM 30T I3

C Positive feedback device | GBRIHD HYITT ATEA
D Low input impedance device | FHt g1Y¢ UfdereT
[ECHEL

Ans: A

49 What is the main function of Uni Junction Transistor
(UJT)? | Uni Junction Transistor (UJT) @ &4 1 B 3Te?
A Relaxation oscillator | 31RTH 31TGlcid

B Broadcast transmitter | STS®RE gFAHIER

C Loud speaker amplifier | 138 &t 3ifecrhrR

D Microphone input device | ARII%IH YL fEaTsd

Ans: A

Download App

.4 CSTA Launchpad P o
2P © 0pen Mind Guruji Google Play

Page | 7

Subscribe YouTube Channel

© 0pen Mind Guruji



>> CSTA Launchpad << Technical Competitive and Academic classes (ITl, Polytechnic, Engineering)

Add: Gurunagar Teacher colony, Bhadrawati (MH) Website: cstalaunchpad.in | omgfreestudy.com

ITI 2nd Year ELECTRICIAN Trade Theory NIMI MCQ | Unit 7. Electronic Practice | ARTa! + English

50 How the gate terminal of N channel JFET biased? | N
e JFET T 71 effiaer verTdt o4 8a?

A Gates are reverse biased | 71¢H 3¢1c¢ U&fuTd! 318d

B Gates are forward biased | 1¢d HRRds U&fuTd! 3Ted

C Gates are forward biased with drain | 7cd 313f¥d 3med
[ECNEEREIRIG

D Gates are reverse biased with source | 7icq GlaRft 3a7c
LRI EG)

Ans: D

51 What is the total turn-on time (ton) while transistor
makes a transition from V2 to V1? [glfFsiex V2 @ V1 e
TSPHUT &Rl 3RAATT TRUT &H-377 des fdbeit 31Te?

b

i
s

L1} ___.J..;.| ______
‘- '
'

o

Aton=tr-ts

B ton=tr-td
Cton=td + tr

D ton= tr+ td+ ts
Ans: C

52 Which device is made up of using the methods of
point contact, grown, diffusion and alloy junctions? |
uise Ppicde, T, FSURg 3for fAsy erg siaer a1 ugdt
AT PIUTA 3UB0T dte 3MTe?

A Inductor | \R&b

B Resistor | 3R

C Capacitor | HUfdeR

D Transistor | gTf~elex

Ans: D

53 Why the collector region is physically made larger
than emitter region in a transistor? | gIf~sTEcIHed TUTEH
& Wifdmesar TAe &YATIET HIS BT bl STTa?

A It has to dissipate more heat | QTeT 31fEids 3s0TAT T8
Pt APTd

B Output taken from collector terminal | HBEEEW?
EEEGLHCRL]

C Base collector region is reverse biased | 9 dalde: &
31C geTdt 31me

D Collector region always operate with high voltage |
Pt & gH! 3 EleesiE B Bd

Ans: A

54 What is the function of a transistor if emitter to base
and collector to base are forward biased? | Eﬁ??'gfsl?r
3TI0T BeideR ¢ S RIS 1S 3HI gifsiEesd o1 B
3Te?

A Acts as an amplifier | TFICIIBTIR UM B Bid

B Acts as an oscillator | 3{TffeicX FeUH PBTH &dl

C Acts as an open circuit | 3797 Tfde T BRf Fa

D Acts as a closed switch [sig f&ia U BRI Pd

Ans: D

55 What is the main advantage of a class A amplifier? |
it A SifFceThRRET H&0 BRICT BT 3TR?

A Minimum distortion | ftoAT fagpdt

B Maximum current gain | &HTeT ddHTT &TH

C Maximum voltage gain | HHTA &Il d16

D Minimum signal to noise ratio losses | f&aT fGuer @

3TETST IUTRR I
Ans: A

56 Which electronic circuit produces signal waves or
pulses without an input? | BIUTd SAGR TP Tfbe
SYcRiara fuer eedt fdar ued aaR wea?

A Detector | f3¢aex

B Amplifier | 3P

C Oscillator | 3{fdeex

D Modulator | ATSRJeI&}

Ans: C
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57 Which circuit is essential to maintain oscillations or
waves in an oscillator circuit? | 3ifEAe Afbered S
T @&t TRAUATATST BIUTA Afdhe AT 3MTe?

A Rectifier with filter | flheeidg HRBRR

B Voltage multiplier | &@lcesT IUTH

C Negative feed back | TBRIcH® HIs g

D Positive feed back | GBRIcH® His ddb

Ans: D

58 What is the main application of uni junction
transistor? | gfF 52 ISR &4 3UdT B 3Te?
A Rectification | G€RUT

B Amplification | Wiaref@

C Regulator circuits | ¥gaieR Afdbeq

D Triggering circuits | ﬁTlﬁ?THﬁ'EF

Ans: D

59 Which device has very high input impedance, low
noise output, good linearity and low inter electrode
capacity? [PIUTcT 3UBUT U 5T ST Ufdare, BHT
3Te?

A NPN transistor | NPN gTf~sTex

B PNP transistor | PNP gIfesrex

C Field effect transistor | Bies Sthae gTf-eie’

D Uni junction transistor | gl 5iaM gTf~sie?

Ans: C

60 What is the difference in current control of MOSFET
compared to JFETs? | FET ECIT@FIﬁH MOSFET =T J&gTdT1
=0T BT WP 3MTe?

A Insulating layer instead of junction | 5id?[ Bdsit s_geie
Y

B Using N material instead of P material | P Ima3ft Rasit N
Hifgcy araRor

C Using P material instead of N material | Gifécmedsit C
Azt arReY

D Using N material gate instead of P material | P #efRaet
Basit N 7RI 71 groRot

Ans: A

61 What is the type of amplifier circuit? | IEATBRR
Tfdsedr YbR &/ 31M8?

=]
|
r.

INPLT

r
A Common base amplifier | BIAT 94 3iffeTBRR

B Common emitter amplifier | BIA TR 3iffeTBrRR

C Class B push pull amplifier | a7 B G2l JeT SRR

D Common collector amplifier | BIAT Betae? 3frABRR
Ans: D

62 What is the peak voltage of 220V rms AC voltage? |
220V rms AC @IeesTd Ul c@leest fdsdt 3me?

A 310.02V

B3117V

C31225V

D 315.20 V

Ans: B

63 How the input impedance of CRO can be increased? |
CRO Tt g7Ye ufdaren w2it argadr Aser?

A By adding resistance to CRO probe | CRO Hi&@T UfdbR
S

B By adding resistance to trigger level circuit | f¢’R dleget
e ufade g

C By increasing time/base attenuator switchposition|
/99 Tegue faifsiem dareqq

D By increasing volts/cm attenuator switch position |
Rloe/AHt 3R-qEeR fag ifsieM aregq

Ans: A
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64 What is the frequency of the displayed signal on CRO
screen covered by 5 division with a time base setting of

0.2 micro seconds? | 0.2 HIRIghY YcbeTedT <T8H a9 AfETE 5
3@ swaiedr CRO ThIKR Wefeid fuerit arRarar
fabdt 31me?

A 1.0 KHz

B 10.0 KHz

C100.0 KHz

D 1000.0 KHz

Ans: D

65 What defect will occur in the radio, if the pulsations
are not removed from the input of the rectifier? |
ATRBRRAT STYCHE[ Ucwl~H PBleedT ATetd ai AS3Hed
Plordr g Fafor Siger?

A Improper tuning | 3/ &fAT

B No response | ufddrg et

C Humming sound | A7 3{TdTs1

D Works with low volume | &H! 31TaTSTIIE B1f 63d
Ans: C

66 How does the depletion region behave? |EtaeiRM 5
&1 aPrTdl?

A As resistor | 3TeId U

B As insulator | 5~geieX ¥

C As conductor | SRR U

D As semi conductor | 37EfdTEd FEU[

Ans: B

67. What is the power gain of CE amplifier with a

voltage gain of 66 and 3 (Beta) of the transistor is 100? |

66 T & lees] dIEIE CE 3iftceTwhra’er uiaR 7 fadt 3m
37Tfot grf~sTean B (sfter) 100 3Mme?

A15

B 166

C 0.66

D 6600

Ans: D

68. What is the effect, if SCR is latched into conduction
and gate current is removed in DC? | 3R TR
BSARMAALY SNSCAT AT 30T DC HED N PBRE BISAT IR BT
gfRoTH gdr?

A SCR gets cut off | SCR &TUaT STTar

B Current through SCR OFF | TT¢] SCR OFF gR

C Output voltage will be reduced | 31T3¢Yg @leesT BHI
HEG]

D Gate looses control over conduction | 7 agTaial
[ELENRILICTE

Ans: D

69 What is the effect of pinch-off voltage in JFET? | JFET
e fifer-3iTs @R sTen &1 uRony giar?

A No depletion region exists | BIUTdlal Hidbadt ST
JfEdcard et

B Drain current becomes zero | §7 &3¢ [ glal

C Reverse bias voltage becomes zero | Reed 9199 @leest
A Ed

D Width of channel has maximum value | F4craT ST
FHI Yo 3T

Ans: B
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